Eco 2023: Micro

Homework #14
Paige

1.  Job A pays $30,000 a year.  Job B is completely identical in all aspects except it is located in an area that has a 10% higher cost of living.  In order to compete, Job B would need to pay ______$33,000______.  This is known as a ________cost of living adjustment_________.

          (10 pts)
2. Explain the difference between the human capital and signaling theories of education.

          (10 pts)
The human capital theory states that general education help raise a person’s ability and MRP, resulting in a raise in labor productivity and wages. On the other hand, thee signaling theory of education states that education only evaluates a person’s ability and MRP, which would have no effect on labor productivity and wages.
3. Identify whether each of the following raises labor demand or lowers labor supply (includes slowing labor supply growth) in labor market X.




    (5 pts each)

Increase the minimum wage for workers less skilled than labor market X. lowers labor supply
Pass laws prohibiting children from working in labor market X. lowers labor supply
Require a license to work in labor market X. lowers labor supply
Increase tariffs on imports that compete with labor market X employers. Lowers labor supply
Limits on immigration for those who might work in labor market X. lowers labor supply
Buy American campaign run by workers in labor market X. lowers labor demand
4. What is the most common way modern labor unions use to raise wages?  This will result in the fewest jobs lost if labor demand is elastic or inelastic?  This will result in the most number of new worker entries if labor supply is elastic or inelastic? 
The most common way modern labor unions use to raise wages is by bargaining for wages higher than the market wage. This will result in the fewest jobs if labor demand is inelastic. This will result in the most number of new worker entries if labor supply is elastic.
5. Briefly describe each of the 4 main pieces of labor legislation.


           (20 pts)
· Norris LaGuardia Act, 1932: outlawed making one required to join a union or promoting one as a condition of employment; also made labor injunctions harder for employers to get
· Wagner Act, 1935: Prohibited specific “unfair labor practices that interfered with union organizing, set up the National Labor Relations Board, and committed the federal government to promote collective bargaining.
· Taft-Hartley Act, 1947: protected employer rights. It Allows the president to call an 80-day “cooling off” period; it allows the states to ban the union shop; and it severely limits the closed shop.
· Landrum-Griffin Act, 1959: includes a “bill of rights” for union members; provision of election procedures; limits on takeovers of locals by national union; and a listing of the financial responsibilities of union officials.
6. Find one website describing a state government attempt to limit public sector unions.  Provide a link and a summary.

http://www.portside.org/2013-04-07/state-supreme-court-limits-union-rights-texas
In 2013, the Texas Supreme Court ruled that public sector union members are not allowed to have a union representative present while being questioned during an internal investigation. Texas law only states that one has “the right to organize into a trade union or other organization” and not any other rights that come along with it.
